
 
CHAPTER 2 

COUNTING IN GROUP 
 
Ques.1 Count the leaves of given plant. 
 
 ×¤ü‹ �Ö‹ ¯ÖÖî¬Öê �úß ¯Ö×¢ÖμÖÖë �úÖê ×�Ö−ÖÖê … 
 
 
 
 
 
 
 
Ques.2 Arrange the following number in ascending order. 
 
 −Öß“Öê ×¤ü‹ �Ö‡Ô ÃÖÓ�μÖÖ†Öë �úÖê ²ÖœËüŸÖêê Æãü‹ � Îú´Ö ´Öê ×»Ö�ÖÖê … 
 
 
     87    42 
  
     33    78 
 
 
 _______ ________ ________ _________ 
 
 
Ques.3 Complete the series  
 
 ×¤ü‹ �Ö‹ � ÎúËü´Ö �úÖê ¯Öæ¸üÖ �ú¸üÖê … 
 

101, 105, 110, 115, _____, ____. 
 
Ques.4 Count by 3’s and complete the pattern . 
 

3 ÃÖê ×�Ö−ÖŸÖê Æãü‹, −Öß“Öê ×¤ü‹ � Îú´Ö �úÖê ¯Öæ̧ ü �ú¸üÖê … 
 
 
 3 6   15  21  27  
 



 
 
Ques.5 Double of 6 is. 
 
 6 �úÖ ¤ãü�Öã−ÖÖ Æîü … 
 

i) 14 
 

ii) 13 
 

iii) 12 
 
 
Ques.6 Write expanded form of  
 
¯ÖÏ 0  ×¾ÖÃŸÖÖ×¸üŸÖ ºþ¯Ö ´Öë ×»Ö�ÖÖê … 
 

5065 =______ + ______ + ______. 
 
 
Ques.7 20 flowers are required to make a garland. How many flowers are 
  required for making 10 garlands? 
 
 ‹�ú ´ÖÖ»ÖÖ �úÖê ²Ö−ÖÖ−Öê � êú ×»Ö‹ 20 ±æú»ÖÖê �úß †Ö¾Ö¿μÖ�úŸÖÖ ÆüÖêŸÖß Æîü … 10 ´ÖÖ»ÖÖ ²Ö−ÖÖ−Öê � êú 
 ×»Ö‹ ×�úŸÖ−Öê ±æú»ÖÖê �úß †Ö¾Ö¿μÖ�úŸÖÖ ÆüÖê�Öß ? 
 
 
Ques.8 The numeral for two thousand three is  
        
 ¤üÖê Æü•ÖÖ¸ü ŸÖß−Ö �úß †Ó�ú ÃÖÓ�μÖÖ Æîü … 
           1) 2030      2) 2003     3) 2013 
 
 
 
 
 
Ques.9 How many legs are there in 2 cows? 
 
 2 �ÖÖμÖÖë � êú ¯Öê¸üÖê �úß ÃÖÓ�μÖÖ ×�úŸÖ−Öß ÆüÖê�Öß ?  
 
 



Ques.10 Group the numbers correctly 
 
 ¤üß �Ö‡Ô ÃÖÓ�μÖÖ†Öê �úÖê ÃÖÆüß ÃÖ´ÖæÆü ´Öê ×»Ö�ÖÖê… 
 
 
  18, 15, 77, 21 
     19, 25, 22 
  78, 15, 11, 80, 82, 68  
 
 
 
 
 
 
 
    Even     Odd 
 
Ques.11 Meena has 32 books and 44 colours. How many things does she 
  have in all? 
 
¯ÖÏ 0 ´Öß−ÖÖ � êú ¯ÖÖÃÖ 32 ¯ÖãÃŸÖ� ëú †Öî¸ü 44 ¸Óü�Ö Æîü ²ÖŸÖÖ†Öê, ´Öß−ÖÖ � êú ¯ÖÖÃÖ � ãú»Ö ×�úŸÖ−Öß “Öß•Öëê Æîü… 
 
 
Ques.12What comes between 
        
 ²Öß“Ö ´Öê ŒμÖÖ †Ö‹�ÖÖ … 
             18 _____ 20 
 
 
Ques.13 100 – 80 =  
   
  100 - 80 =  
 
 
 
 
 
 
Ques.14 Draw lines to match the correct group. 
 
¯ÖÏ 0 ÃÖÆüß ÃÖ´ÖæÆüÖë �úÖê »ÖÖ‡−Öê �Öß“ÖÓŸÖê Æãü‹ ×´Ö»ÖÖ−Ö �úß×•Ö‹ … 



 
 

 

      

  
 
 
 
 
 

 
  
  

 
 
 
 
 
 
 
 
 
 
 
 
 
Ques.15 Answer the following. 
 
 ×−Ö´−Ö � êú ˆ¢Ö¸ü ¤üß×•Ö‹… 
 
1) 9 + 9 + 9 + 9 = 
 9 + 9 + 9 + 9 =  
 
2) 6 + 6 + 6 = 
 6 + 6 + 6 = 
 
3) 7 + 7 = 
 7 + 7 = 



ANSWERS 
(ˆ¢Ö¸ü ´ÖÖ»ÖÖ) 

 
Ans.1  14 

14 
Ans.2  33, 42, 78, 87 

33, 42, 78, 87 
Ans.3  120, 125 

120, 125 
Ans.4  9, 12, 18, 24, 30 

9, 12, 18, 24, 30 
Ans.5  iii) 12 

iii) 12 
Ans.6  5000 + 60 + 5 

5000 + 60 + 5 
Ans.7  200 flowers 

200  (±æú»Ö) 
Ans.8  2) 2003 

2) 2003 
Ans.9  8 legs   

8  (¯Öȩ̂ ü) 
 
Ans.10       Even (ÃÖ´Ö)     Odd  (×¾ÖÂÖ´Ö)  
 
 
      18, 22    15, 77 
      78, 80, 82    21, 19, 25 
           65       15, 11 
 
 
Ans.11 76 

76 
Ans.12 19 

19 
Ans.13 20 

20 



Ans.14 A C 
 

B A 
 
C B 

 
Ans.15 
 

i) 36 
36 

ii) 18 
18 

iii) 14 
14 

 
        
  
 
 
    
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


